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B.A. (CBCS) DEGREE EXAMINATION, APRIL 2023
Third Semester
Economics — Core
INTERNATIONAL ECONOMICS —1
(For those who joined in July 2021 onwards)
Time : Three hours Maximum : 75 marks
PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :
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I~

Which one of the following is not the difference
between foreign trade and home trade?

(a) Different political units
(b) Different currencies
(c) Homogeneity of markets

(d) Different trade policies

Epssgn_eupmer  ergl vereni®  aureflugden
DETEID SR ?

(=) sasé Qegpenn

() epusd sdafiiy

(B) resyiulL QummLast

() Curig

Which one of the following is not the advantage of
foreign trade?

(a) World's prosperity

(b) Increased production

(¢)  Varities of goods

(d) Competition

vermgdlen  SiglueLuied UL RE Qeoay
Camum e afiggeur

(=) Lnélg () TTagd

(@) AssmiGomr ()  CGg.eren.fled
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The theory of comparative cost in terms of money
is explained by

(a) Taussig (b) Marshall
(c¢) Ricardo (d) J.S.Mill

uenat () euresflub engdwiiuLng Hlepe
(=) ewé Qeaey Cagur®

(=) apenné dewey Gaupgun®

@) @uSL®é Gsewa Caupur@

() (=) whmi (&) Grer@ibd
International trade is not possible under
(a) Equal difference in cost

(b)  Absolute difference in cost

(¢) Comparative difference in cost

(d) Both (b) and (c)

cugpLomer aurenliu &St =

(=) Qm/Qx (<) Px.Qx/Pm
(@) Px/Pm (m) PmPx/Qx
Income terms of trade =

() Qm/Qx (b) Px.Qx/Pm
(¢ Px/Pm (d) PmPx/Qx
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Volume of imports 100 =
Volume of exports

(a) Gross barter terms of trade
(b) Terms of trade
(¢) Net barter terms of trade

(d) Income terms of trade

vemnduy Gepssae ghubes
(&) gppog GOPsD

(=) gomwd sfsfiy

@) Bnsewd sdsiuy

() (<) wHmb (B) - GrerrEIb
Devaluation of currency leads to
(a) TFallin exports (b)

Rise in exports

(¢) Riseinimports (d) Both (b) and (c)
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The reason for disequilibrium in balance of
payment

(a) Structural changes

(b) Trade cycle

(© Long term

() All of these

LigsrentmL_ (B Gune;wﬂug,gsb aurenflub’
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Protectibrllism in international trade stands for
(a) Free trade policy

(b) Restricted trade policy

(¢) Semi-restricted trade policy

(d) All the above
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Policy of non-interference by the government ig
foreign trade refereed to

(a)
(©)

Internal trade (b)
(d)
PART B — (5 x 5 = 25 marks)

Free trade

Protection Foreign tra de,

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 250 words.

(<31)

(<=4)

uemesrm_ (b

afleurd).

arafilugdlen  wiHusgasms

Discuss the importance of international
trade.

Or

Leremnt @ euranilLid, e.dtpT @ eurefiusest
urdl&@ib eTeuens sreueurml umd Gieum?

How can you argue that international trade
will affect internal trade?
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(<)

(1)

PUELRE Qeeay Gamurl e aGsrarsamar
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Write down the assumptions of comparative
cost theory.

Or

eUILHE Gswey Carlumgedr (Gopsenard
&g &aTl (.

Point out the short comings in the doctrine of
comparative costs.

ebens streil  LHmL  @rleols  srreh
eurexfiL aisb LB Ao GHiLL ewgis.
Write a brief note on single and double
factoral terms of trade.

Or
Qurss wemwrhn ereslu &igh - Hmy

©MHLUY auanys.

Give a short note on gross barter terms of
trade.

iBEIw Qeanss Blepeoubicy,

FLPDV
snflenaullcnennanut claurd.

Discuss the cyclical disequilibrium in the
balance of payments.
Or
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() SwOPTL(E Qegugs  Bloauld wisnfeon
ghupeugharer STTEMTRIGENET LI(GSSTIIS.

Analvse the causes for disequilibrium in the
balance of payments.
15. (=) seoLullder areflusSen peTenEmaTs .
State the advantages of free trade.
Or

(=) seordeen arailusms Qzmfparindembe
CaupuBss!-

Differentiate ‘Free trade’ from ‘protection’.
PART C — (5 x 8 =40 marks)

Answer ALL questions choosing either (a) or (b).
Each answer should not exceed 600 words.

16. (=) “uemarm( curenfluib
afCsrgiéng” - elaurs.

“International trade leads to dependence” -

srihlMHSSNIEES

comment.
Or
() edprl@® cunerflLgemsWLD, uerenm (b
areiusasub Caunubss!
Distinguish between internal,  and

international trade.
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17.

18.

19.

(=) H.O.eflem ugnenm s Cariun e Eparmiay
Qsiss.

Critically  analyse H.O  theory  of
international trade.

Or
(<) Qapufwfer LaremGé Gem_ure eflaufl.
Explain Heberler theory of international

trade.

() eurmemiu  eigsens SiwraflléEh sryanflsener
edleufl.

Describe the factors determining terms of
trade.

Or
(<) -eurenflu aigsder gHuBD

GPFleussTar STyam ks cfleufl-

LTS&LWmet

Explain the reasons for unfavourable terms
of trade.

(@) “cuopn @ Cegssflon auGurgd soLMs
B rés Cauampid” — Minirflssalb.

Balance of payments always balance -
comment.

Or
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What are the methods for correcting
disequilibrium in the balance of payment?
gL areflusdamd s&mngb &u
Neocasmer eaTédGs.

Explain the evil effects of free trade.

Or

) sL@uminp afsgsenme ghu@d Bemenw,

Sewnameté aps.

State the advantages and disadvantages of
free trade.
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